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I. CHOOSE THE CORRECT OPTION (1x15=15)
1. Modernization as a process is dependent on
a. Spread of secular ideas c. Spread of scientific education
b. Transition from ascribed to achieved status d. All the above
2.  Who introduced the term modernization?
a. Lundberg b. Gait c. Page d. Daniel Lerner
3. is a process which indicates the adoption of the modern ways of life and values.
a. Industrialization b. Modernization c. Westernization d. None of these
4. Who criticized the concept of modernization?
a. Yogendra Singh b. M.N Srinivas c. Risley d. Gait
5. defends the concept of modernization.
a. Yogendra Singh b. Ketkar c. Risley d. Gait
6. M.N Srinivas considered the term modernization as more
a. Subjective b. Objective c. Preferable d. None of these
7. indicates a change in people’s food habits, dress habits, speaking styles, tastes, choices, preferences,
ideas, values and recreational facilities.
a. Secularization b. Globalization ¢. Modernization d. Westernization
8. Who defined Modernization as the current term for an old process of social change whereby less developed societies acquire
the characteristics common to more developed societies?
a. Smelser b. Daniel Lerner c. Alatas d. Rustow and Ward
9. The causes for the modernization of India are
a. Strong ideology based on Nationalism c. Development of mass communication
b. Spread of education d. All the above
10. What is the impact of modernization on Indian society?
a. Industrialization of economy c. Development of modern means of transport
b. Unemployment increased d. All of them
11. What are the criticisms against modernization?
a. Poor governance b. Family values diminished c. Emergence of political identities d. All
12. The author of ‘Modernization of Indian Tradition’ is
a. Milton Singer b. M.N Srinivas ¢. Yogendra Singh d. M.S.A Rao
13. Modernization has affected rural kinship most because
a. The people have become materialist ¢. Means of communication has developed
b. There has been migration from the villages to the cities d. The people have lost faith in worship of God
14. Which of the following combinations is true regarding modernization in India?
a. Diffusion and acculturation c. Evaluation and acculturation
b. Evaluation and diffusion d. Evaluation and regeneration
15. Modernization symbolizes a process of change.
a. Partly correct b. True c. False d. None
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